Die 11er - Reihe uben (offene Frage)

Das grofie Einmaleins

Aufgabe 1 Aufgabe 2
.2 < 11 = .02 11 =
2,11 ¢ 11 = 2,17 « 11 =
3019 « 11 = 30 F ¢ 11 =
4011 ¢ 11 = 4. 20 « 11 =
5 15 « 11 = 5 20 « 11 =
6. 14 « 11 = 6. 16 « 11 =
7.o018 o 11 = o016 ¢ 11 =
8 14 « 11 = 8. 12 « 11 =
9. 18 ¢ 11 = 9.5 « 11 =
10, 15 « 11 = 100 12 « 11 =

Aufgabe 3 Aufgabe 4
1 e 11 = .15 « 11 =
2.1 ¢ 11 = 2. 18 11 =
3010 « 11 = 3. 56 « 11 =
4 5 e 11 = 4 6 ¢ 11 =
5 9 e 11 = 5 1T « 11 =
6 3 ¢ 11 = 6. 20 « 11 =
o019 ¢ 11 = 700012 ¢ 11 =
8 11 « 11 = 8. 4 e 11 =
9. 14 « 11 = 9 1T « 11 =
0. 1 « 11 = 0. 6 « 11 =
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Die 11er - Reihe iiben (offene Frage) | ANTWORTEN

Das grofie Einmaleins

Aufgabe 1 Aufgabe 2
.2 < 11 = 22 .2 ¢ 11 = 22
211 « 11 = 121 2. 1F « 11 = 187
3019 « 11 = 209 3. 0F ¢ 11 = 77
4011 ¢ 11 = 121 4. 20 « 11 = 220
5 15 « 11 = 165 5 20 « 11 = 220
6. 14 « 11 = 154 6. 16 « 11 = 176
7018 « 11 = 198 o016 ¢ 11 = 176
8 14 « 11 = 154 8. 12 « 11 = 132
9. 18 ¢ 11 = 198 9.5 « 11 = 55
0. 15 « 11 = 165 10, 12 « 11 = 132
Aufgabe 3 Aufgabe 4
1 ¢ 11 = 11 1. 15 « 11 = 165
2.1 ¢ 11 = 11 2. 18 « 11 = 198
3010 « 11 = 110 3. 56 « 11 = 55
4 5 « 11 = 55 4.6 ¢ 11 = 66
5 9 ¢ 11 = 99 5 1 ¢ 11 = 11
6. 3 ¢ 11 = 33 6. 20 « 11 = 220
o019 o 11 = 209 o012 ¢ 11 = 132
8 1 e« 11 = 121 8 4 <« 11 = 44
9. 14 11 = 154 9.1 < 11 = 11
0. 1 « 11 = 11 0. 6 « 11 = 66
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